MathVine - Pre-Algebra

Multiplying Absolute Value

Evaluate.
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2]+ 3]
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| — 10[ + [6]
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1]+ | — 10|
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60

10

14

36

60

10

15

36
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MathVine - Pre-Algebra

Multiplying Absolute Value

Solution Steps

U l4]x |2
4] =4
2] =2
4x%x2=28

T 20 %3
2] =2
3] =3
2x3 =06

Y= 10| = |
| — 10| = 10
6| =6

10x6 = 60

NESTEY
-1 =1
3] =3

1x3=3

T % | — 1
1] =1

| — 10| = 10
1x10=10

Name

Date

Period



NI
7] =7

|~ 2] =2
Tx2=14

T4+
| —4| =4
9 =9

4%x9 =236

Tl 6k -1
|~ 6] =6

| — 10| =10
6 %10 = 60

|- 5] x|
|~ 5[=5
2] =2

5x2 =10

U5k | -
|~ 5/ =5
| —3]=3
5x3 =15

V= 3] x|
|~ 3] =3
1] =1

3x1 =3



"16] * 6]
6] =6
6] =6
6x6 =36



